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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2018 

ELECTIVE COURSE : ECONOMICS 

EEC-011 : FUNDAMENTALS OF ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from all sections as per instructions. 

SECTION - A 

Attempt any two questions from this section in 
about 500 words each. 2x20=40 

1. 'Economics is a science of choice-making'. Explain 
this statement with the help of production 
possibilities curve. 

2. What do you understand by balance of 
payments ? What are the components of balance 
of payments account ? 

3. What is consumption function ? State the factors 
that determine the level of consumption in an 
economy. Also bring out the relationship between 
APC and APS. 

4. Explain the meaning of IS and LM curves. How 
does an economy realise equilibrium in both goods 
and money market ? 
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SECTION - B 

Attempt any four questions from this section in 
about 250 words each. 	 4x12=48 

5. What is short-run production function ? Explain 
the law of variable proportions with the help of a 
diagram. 

6. Bring out the relationship between Average Cost 
and Marginal Cost. Can average cost be falling 
while marginal cost rises ? 

7. Describe the determination of equilibrium price 
and quantity under simple monopoly. 

8. Explain quantity theory of money. What are its 
implications ? 

9. 'Is profit a reward for innovation' or is it a 'reward 
for bearing risk and uncertainty' ? Explain. 

10. What is inflation ? How is inflation measured 
through index number ? 

SECTION - C 

11. Distinguish between any two of the following : 
(a) Real and Nominal Rates of Interest. 	2x6=12 
(b) Ricardion and Modern theory of rent. 
(c) Price Elasticity and Income Elasticity of 

Demand. 
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